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FOR GOD AND COUNTRY

Class : 12 Subject : ENGLISH Term : SECOND TERM Max Marks : 80

Q1: The word 'undergrowth' suggests Marks : 1

1. astream

2. avalley
3. flowers
4 . shrubs and bushes E ( This Answer is Correct )
Q2: The soldier's innocence is compared to that of a Marks: 1
1. man
2. flower
3. baby |Zl ( This Answer is Correct )

4 . humming insect

Q3: The picture of the valley described by the poet is Marks : 1
1. gloomy
2 . frightening

3. shocking

4 . beautiful |Zl ( This Answer is Correct )

Q4: Natalya's age is Marks : 1
1. twenty
2 . twenty five E ( This Answer is Correct )
3. thirty

4 . thirty five

Q5: According to Lomov, Natalya is Marks: 1
1. well-educated
2 . not bad-looking

3. an excellent house-keeper

4 . all of the above E ( This Answer is Correct )
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Q6: The Chubukovs had earlier lent Lomov their Marks :
1. mowers
2. hunting dogs
3. meadows
4 . threshing machine E ( This Answer is Correct )

Q7: The Chubukovs had put off their own threshing till Marks :
1. September
2 . October
3 . November E ( This Answer is Correct )
4 . December

Qs: The name of the person who has got the best sort of dogs in the locality is Marks :
1. Mironov
2. Lomov
3. Chubukov
4 . Volchanetsky |Zl ( This Answer is Correct )

Q9: According to Chubukov, the faults in Guess are that he is old and Marks :
1. lame
2. deaf
3. blind
4 . short in the muzzle |Zl ( This Answer is Correct )

Q10: The person who has got the best dogs in the neighborhood is Marks :
1. Lomov
2. Chubukov
3 . Volchanetsky E ( This Answer is Correct )
4 . Mironov
Q11: The journey in 'The Eyes Have It' takes place in the month of Marks :

1.

2

3.
4.

September
. October
November

December

|Zl ( This Answer is Correct )
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Q12: The narrator was very conscious of his Marks :
1. appearance
2. voice
3 . blindness |Zl ( This Answer is Correct )
4. speech

Q13: Ultimately, the tree becomes brown, Marks :
1. hard
2. twisted
3. withered
4 . all of the above |Zl ( This Answer is Correct )

Q14: Everyday, Jainulabdeen's day started at Marks :
1. 3am.
2. 4am. |Zl ( This Answer is Correct )
3. 5am.
4. 6am

Q15: The valley where the soldier is lying dead is Marks :
1. big
2. small |Zl ( This Answer is Correct )
3. long
4. deep

Q16: The poem 'Asleep In The Valley' is a Marks :
1. lyric
2. ode
3 . sonnet E ( This Answer is Correct )
4. elegy

Q17: The stream that flows through the valley is Marks :

1.

2

3.
4.

swift
. slow
broad

narrow

E ( This Answer is Correct )
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Q18: The grass on the valley appears Marks :
1. yellow
2. fresh
3. silvery |Zl ( This Answer is Correct )
4 . bright
Q19: The 'hollow' is filled with Marks :
1. hope
2. water
3. silence
4 . light |Zl ( This Answer is Correct )
Q20: The soldier described in the poem is Marks :
1. young
2. very young |Zl ( This Answer is Correct )
3. middle-aged
4. old
Q21: The soldier is sleeping on a pillow made of Marks :
1. fern E ( This Answer is Correct )
2. flowers
3. wood
4 . undergrowth
Q22: The soldier's sleep is Marks :
1 . peaceful |Zl ( This Answer is Correct )
2. disturbed
3. piteous
4 . glorious
Q23: The soldier's innocence is best described through his Marks :
1. sleep
2. posture
3. smile |Zl ( This Answer is Correct )
4 . injury
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Q24: The feet of the soldier lies among Marks :
1. ferns
2 . flowers |Zl ( This Answer is Correct )
3. shrubs
4 . bushes
Q25: The young soldier sleeps in Marks :
1. darkness
2. twilight
3. moonlight
4 . sunlight |Zl ( This Answer is Correct )
Q26: The soldier keeps one of his hands on his Marks :
1. head
2. side
3. chest |Zl ( This Answer is Correct )
4 . stomach
Q27: The two red holes are marks caused by Marks :
1. bayonets
2 . bullets |Zl ( This Answer is Correct )
3. swords
4 . Kknives
Q28: The soldier's smile is Marks :
1. guileless
2. gentle
3. neither
4 . both E ( This Answer is Correct )
Q29: The ending of the poem produces a feeling of Marks :
1 . shock |Zl ( This Answer is Correct )
2. satisfaction
3. wonder
4 . indifference
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Q30: The bed that the soldier lies on is Marks :
1. warm
2. green
3. sun-soaked
4 . all of the above |Zl ( This Answer is Correct )
Q31: The theme of this poem is the of war. Marks :
1. futility |Zl ( This Answer is Correct )
2. glory
3. beauty
4 . vanity
Q32: An alternative title to the play is Marks :
1. Lomov's Proposal
2. The Real Proposal
3. The Argumentative Proposal
4 . The Marriage Proposal E ( This Answer is Correct )
Q33: Lomov and Chubukov are Marks :
1. physicians
2 . landowners E ( This Answer is Correct )
3. lawyers
4 . merchants
Q34: Lomov is Chubukov's Marks :
1. brother
2. son
3 . neighbour E ( This Answer is Correct )
4 . friend
Q35: Lomov was wearing a Marks :

2.
3.

4

long overcoat
hunting suit
night suit

. dress jacket

|Zl ( This Answer is Correct )
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Q36: "I shall drink some water." The speaker wants to drink water because he was Marks :
1. thirsty
2 . excited |Zl ( This Answer is Correct )
3. sick
4 . all of the above

Q37: Lomov's proposal to Chubukov was to Marks :
1. marry Natalya |Zl ( This Answer is Correct )
2 . go hunting with Natalya
3. borrow the threshing machine
4 . borrow money

Q38: Hearing Lomov's proposal, Chubukov was Marks :
1. shocked
2. sad
3 . overjoyed E ( This Answer is Correct )
4. angry

Q39: "It's been my continual desire." Chubukov's desire is to Marks :
1. get married
2 . get his daughter married |Zl ( This Answer is Correct )
3. buy new dogs
4 . buy Oxen Meadows

Q40: The person who is referred to as 'love-sick cat' is Marks :
1. Lomov
2. Squeezer
3. Guess
4 . Natalya E ( This Answer is Correct )

Q41: Lomov is in his mid- Marks :

1.

2

3.
4.

twenties
. thirties
forties

fifties

E ( This Answer is Correct )
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Q42: "I'm trembling all over." The speaker is trembling because he Marks :
1. issick
2. isweak
3. felt an earthquake
4 . suffers from palpitations E ( This Answer is Correct )
Q43: Lomov feels a twitch in his Marks :
1. eyebrow |Zl ( This Answer is Correct )
2. nose
3. ear
4 . mouth
Q44: Lomov jumps in his sleep like a Marks :
1. lunatic |Zl ( This Answer is Correct )
2. fox
3. cat
4. hare
Q45: Natalya was dressed in a/an Marks :
1. negligee
2. apron
3. both |Zl ( This Answer is Correct )
4. none
Q46 : When Lomov came to meet Natalya, she was Marks :
1. eating
2 . sleeping
3 . working E ( This Answer is Correct )
4 . relaxing
Q47: While Lomov was speaking to Natalya, she offered him Marks :

2.
3.

4

tea
coffee
champagne

. lunch

|Zl ( This Answer is Correct )
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Q48: In return for the land of Oxen Meadows, the peasants were supposed to Marks :
1. ftill the land
2 . make bricks |Zl ( This Answer is Correct )
3. harvest crops
4 . serve as slaves
Q49: In anger, Natalya says that she will send to Oxen Meadows the Marks :
1 . mowers |Zl ( This Answer is Correct )
2. peasants
3. farmers
4 . shepherds
Q50: What is the first argument over? Marks :
1. money
2. dogs
3. land |Zl ( This Answer is Correct )
4 . ancestors
Q51: The name of Lomov's dog is Marks :
1. Guess E ( This Answer is Correct )
2. Squeezer
3. Mironov
4. Ivan
Q52: According to Lomoy, the fault in Squeezer is that he is Marks :
1. deaf
2. blind
3 . overshot E ( This Answer is Correct )
4. lame
Q53: According to Lomoyv, dogs like Squeezer can be found in every Marks :
1. bush |Zl ( This Answer is Correct )
2. corner
3. street
4 . market
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Q54: On the day of the Marusinsky hunt, Squeezer worried a Marks :
1. goat
2 . sheep |Zl ( This Answer is Correct )
3. cow
4. fox
Q55: Lomov was advised to lie on the kitchen oven and catch Marks :
1. ants
2 . grasshoppers
3. beetles |Zl ( This Answer is Correct )
4. flies
Q56: The second argument is about Marks :
1. land
2. dogs |Zl ( This Answer is Correct )
3. meadows
4 . machines
Q57: The most important thing for Lomov was Marks :
1. principles E ( This Answer is Correct )
2. land
3. money
4 . manners
Q58: The girl was tired of people telling her that she was Marks :
1. pretty E ( This Answer is Correct )
2. interesting
3. charming
4 . beautiful
Q59: The narrator praised the girl's Marks :
1. voice |Zl ( This Answer is Correct )
2. hair
3. eyes
4 . clothes
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Q60: When the train drew into the station, a high-pitched female voice was heard near the Marks :
1. window
2 . ticket counter
3. driver's cabin
4 . carriage door |Zl ( This Answer is Correct )
Q61: According to the narrator, few girls can resist Marks :
1. flowers
2. chocolates
3. conversation
4 . flattery |Zl ( This Answer is Correct )
Q62: The uprooted tree is left in the Marks :
1. sun |Zl ( This Answer is Correct )
2. field
3. forest
4 . soll
Q63: From close to the ground will rise green Marks :
1. roots
2. shoots
3. leaves
4 . twigs |Zl ( This Answer is Correct )
Q64: What will expand to its former size if left unchecked are miniature Marks :
1. seeds
2 . boughs |Zl ( This Answer is Correct )
3. leaves
4. twigs
Q65: According to the poet, a tree grows consuming the earth Marks :
1. rapidly
2. steadily
3. slowly |Zl ( This Answer is Correct )

4 . none of the above
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Q66 : As a couple, Kalam's parents were widely regarded by people to be Marks :
1. middle-class
2 . ideal |Zl ( This Answer is Correct )
3. handsome
4 . generous
Q67: With prayer, one transcends one's body and becomes part of the Marks :
1. cosmos |Zl ( This Answer is Correct )
2. earth
3. natural elements
4 . divine being
Q68: When Kalam was old enough, he asked his father about the of prayer. Marks :
1. success
2 . effects
3. relevance E ( This Answer is Correct )
4. power
Q69: Kalam's father would start his day by Marks :
1 . saying his prayers |Zl ( This Answer is Correct )
2 . feeding the poor
3. visiting the coconut grove
4 . visiting the mosque
Q70: Jainulabdeen would return from the coconut grove with coconuts. Marks :
1. half adozen
2. adozen |Zl ( This Answer is Correct )
3. two dozen
4 . three dozen
Q71: The play 'The Proposal' is a Marks :
1. comedy
2. ftragedy
3. farce |Zl ( This Answer is Correct )
4 . parody
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Q72: Lomov, Chubukov and Natalya approach marriage with a sense of Marks :
1. idealism
2. romanticism
3 . practicality |Zl ( This Answer is Correct )
4 . cynicism
Q73: When he sleeps, Lomov feels the pull in his side times. Marks :
1. twenty |Zl ( This Answer is Correct )
2. fifty
3. hundred
4 . innumerable
Q74: The peasants used the land of Oxen Meadows for years. Marks :
1. twenty
2. thirty
3 . forty |Zl ( This Answer is Correct )
4 . fifty
Q75: According to Natalya, the Chubukovs have owned Oxen Meadows for nearly years. Marks :
1. 100
2. 200
3. 300 |Zl ( This Answer is Correct )
4. 400
Q76: The land value of Oxen Meadows is roubles. Marks :
1. 100
2. 200
3. 300 E ( This Answer is Correct )
4. 400
Q77: Oxen Meadows stretches over an area covering acres. Marks :
1. 12
2. 125
3. 13
4. 135 |Zl ( This Answer is Correct )
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For Guess, Lomov paid roubles.
1. 100
2. 115
3. 120

4. 125

Marks :

E ( This Answer is Correct )

Q79:

Chubukov bought Squeezer for roubles.

1. 45

2.85

4. 105

Marks :

E ( This Answer is Correct )

Q80:

The killing of the tree is actually completed when it
1. iscut
2. is uprooted
3. becomes dry

4 . is seasoned into wood

Marks :

E ( This Answer is Correct )
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